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TUBJND data of Ostwald colours, illuminant D65, Bc=0,80, Bx=2,8
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TUBJND data of Ostwald colours, illuminant D50, Bc=1,00, Bx=2,8
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TUBJND data of Ostwald colours, illuminant D65, Bc=0,80, Bx=2,8
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TUBJND data of Ostwald colours, illuminant D50, Bc=1,00, Bx=2,8
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TUBJND data of Ostwald colours, illuminant A00, Bc=2,50, Bx=2,8
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351.916.529.736.841.246.151.362.377.785.288.090.3129.9141.7147.1151.4159.9160.8171.9196.5209.7216.8221.2226.1231.3242.3253.0257.7265.2268.0270.3309.9321.6327.1331.4339.9340.8351.916.529.736.80.00.0

hAB,2

  0  90 180 270 360 450

Y=Yo

  0

25

50

75

8,2cab,2, (2,8 8,2)/cab,2

  0

25

50

75

Y=45
=(Ymax+Ymin)/2

Ymax=77

Ymin=13

XYZW=85.5, 90.0, 98.0
A2=2,5 (a2 − a2,n) Y
B2=2,5 Bc (b2 − b2,n) Y
a2=a20 [(x−xc) / y]
b2=b20 [z / y]
a20=1, b20=−0,4
xc=0,11, Bc=0,80
n=A00
CAB,2=[A2

2 + B2
2 ]1/2

hAB,2=atan [B2 / A2 ]
cab,2=[ (a2 − a2,n) 

2

+ (b2 − b2,n) 
2 ]1/2

hab,2=atan [ (b2 − b2,n)
/ (a2 − a2,n) ]

CAB,2 = 2,5 [ cab,2] Y
= nearly constant

 

 

  

 
eeu21−3n

eeu21−1a

TUBJND data of Ostwald colours, illuminant D65, Bc=0,80, Bx=2,8
351.916.529.736.841.246.151.362.377.785.288.090.3129.9141.7147.1151.4159.9160.8171.9196.5209.7216.8221.2226.1231.3242.3253.0257.7265.2268.0270.3309.9321.6327.1331.4339.9340.8351.916.529.736.80.00.0

hAB,2

  0  90 180 270 360 450

Y=Yo

  0

25

50

75

8,2cab,2, (2,8 8,2)/cab,2

  0

25

50

75

Y=45
=(Ymax+Ymin)/2

Ymax=77

Ymin=13

XYZW=85.5, 90.0, 98.0
A2=2,5 (a2 − a2,n) Y
B2=2,5 Bc (b2 − b2,n) Y
a2=a20 [(x−xc) / y]
b2=b20 [z / y]
a20=1, b20=−0,4
xc=0,11, Bc=0,80
n=D65
CAB,2=[A2

2 + B2
2 ]1/2

hAB,2=atan [B2 / A2 ]
cab,2=[ (a2 − a2,n) 

2

+ (b2 − b2,n) 
2 ]1/2

hab,2=atan [ (b2 − b2,n)
/ (a2 − a2,n) ]

CAB,2 = 2,5 [ cab,2] Y
= nearly constant

eeu21−2a

TUBJND data of Ostwald colours, illuminant D50, Bc=1,00, Bx=2,8
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TUBJND data of Ostwald colours, illuminant D65, Bc=0,80, Bx=2,8
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TUBJND data of Ostwald colours, illuminant D50, Bc=1,00, Bx=2,8
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TUBJND data of Ostwald colours, illuminant D65, Bc=0,80, Bx=2,8
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TUB-test chart eeu2; Ostwald optimal colours, YN=3,6, YW=90, illuminant D65, CIE-02-degree
Ostwald optimal colour data: CIEXYZ  and  TUBLAB , and eight different colour diagrams

http://farbe.li.tu-berlin.de/eeu2/eeu2l0n1.txt /.ps; only vector graphic VG; start output
see separate images of this page: http://farbe.li.tu-berlin.de/eeu2/eeu2.htm

see sim
ilar files of the w

hole serie: 
http://farbe.li.tu-berlin.de/eeus.htm

technical inform
ation: http://farbe.li.tu-berlin.de or http://color.li.tu-berlin.de
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